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d It turns out this problem was over specified and there were therefore
two approaches to solving this part with the given informationWe will give full credit for either approach
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Note Breedoesn't have T 400C P 2 Oompa O 15122m31kg Vwto equalPzw bcthe partition is rigid uzw 2945.9 Kslkg



m iµ mw 7T
Note that the two approachesgive different answers indicating therewas something Unphysical in the problem This could be remedied
many ways e.g by not specifying the volumeof the water side of thebox
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